PART - A / 9T - &

GENERAL INTELLIGENCE & REASONING / @mra gfegur ud wedhvifae
Directions : In question numbers 7 to 10, find the odd

Directions : In question numbers 1to 5, select the related
word /letters/number from the given alternatives.

forsbor » e w19 579 fiey mu, faremed F @ wafar wey

gt /gEm R g )
1, Palaeontology : Fossil :: Phrenology : _?
(A) Pancreas (B) Thyroid
(O) Lungs (D) Skull
Srarm fagr ¢ WA : : T faaA -
(A) Fr=immy (B) giatfaE
(© WHE (D) @
2. MIKE:OGMC::CIAD 2 Fe
(A) AICF B EGCB
(© ENCF (D) EICB
3. JAFl = M:JADD = L:: JABA =?
(A) 1 ByK © N ) O
4. 9:50:;
_A&) 20105 (B) 22:110
© 18:190 (D) 15:225
_»g Vg »= 1 Al |
5. 16:22::36:_ 2 Ay
(A) 24 (B) 46 (©) 44 D) 26
6.  Identify the pair which ‘does not’ exhibit the same

relationship as the capitalized pair :
ETYMOLOGY : WORDS

(A) PSYCHOLOGY : MIND

(B) ANATOMY :BODY

([C) PHILOSOPHY : LANGUAGE
(D) ARCHEOLOGY : ANTIQUES

i o o N Frefertias g % Ay wan [ £
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number/ letters/ number pair from the given alternatives,

fordvr : ww gEm 7 W10 d% 4, feu mu fresdl A A fm

Hen sl /e g i |
7. (A) Eyes/¥id (B) Nose/m
(©) Ears/=m 2 Vestibilar/ T3
8., (AFTPLI (B) YUQM
(© RNJF (D) SOK]
9. (A) (42,14) (B) (69,2)
(© (108, 36) 2y (56,19)
10. 32,13, 51, 24, 46, 20, 72, 45
(A) 72 (B) 46 © 13
11.  Arrange these letters of each group to.

12,

meaningful word and then find the odd one out
i v A % o Wl we ¥ Sl
aﬁmmmﬁﬂnmﬁmml W

(A) GHIET -
(©) ORFU

Identify which one of the given alt
another member of the group of £
Lu{‘kl'lm'h P&h‘lﬂ; Bhﬂpﬂjf ]a-i UT,

feu mu famei A/ ‘ﬂl'ﬁ*-'ﬂ'f;__
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Directions ; In question numbers 15 and 16, which one set
of letters w’hmiqwntially placed at the gaps in the given
fetter series shall complete it ?
e : W SN 15 3016 el 1 FE-E e wed
:Hﬂtmr&‘nﬂz‘mi SR ST 1 T RO 7
5. abcabcace -

_-lﬁ. (A) ababac (B) ababca X Clgtes
() acacab n be ab
adtCacdkda cddcbdbcebda <
(A) becba [ cbbaa (\g
(C) ccbba " (D) bbead
Directions : In question numbers 17 and 18, a series is
given, with one term missing. Choose the correct alternative
from the given ones that will complete the series,
fordwn - W e 17 i 18 H v AR fom 2, fad o
e HE ¥ feu m famedl F @ aw W fasen g sn
T W Y HLN

1. RZ224%8 730500
(A) 9 ® 8
0,7,26,63, _?
(A) 87 (B) 96 © 123 (O 124
P, Q. R.5, T, U are 6 members of a family in which
there are two married couples. T, a teacher is married
to a doctor wha is mother of Rand UL Q, the lawyer
is married to P. 'has one son and one grandson. Of
the two married ladies one is a housewife. There is
also one student and one male engineer in the family.
Which of the following is true about the grand-
daughter of the family ?

A) Sheisalaw @) She is an engir

(O Shesasudem 0 Sheiadocor
P,Q RS, T, U U wfam tamﬁﬂqﬂﬂ
feranfiea % @1 fevees 7 1 ferame sfee A g &
) R uF i WQ}HW A r

W A 3 v i ¥ A fafia
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16, o

@ mn (D) 13

18.

19.

20,

21,

% 4 '&Tp- '
A man takes 6 km distance (o g; around the
rectangular area. If the area of the rectangle is
2km, find the difference between length and breadth

U AR SPTEER B9 % Aar) 3 o0 i 6 ken e |
‘#Wﬁmmrm“m%,mmm%# }
A st am afo) 36 &
(A) 1km = e

(©) 2km

(B) 05km * 7L

D) 0.75km
Sixstudents A, B, C, D, E, F are sitting on the ground.

A and B belong to Ruby House, while the rest belong
to Emerald House. D and F are tall, while others are
short. Cand D are wearing glasses, while others
are not wearing, Which girl of Emerald house who
is tall and wearing glass ?

BEWEA,B,C,D,E Faf i3 gu ¥ Ashpw
ey w&l w30 A ¥ afs I H G UEes wEn
AT DA FEY § EE I oH MEs vt C
3D A sy wen & st s ol 3 w6 ores
WIaW ) - ega el ¥ A = vl g R
(A) B mC @D @A

Which single letter can be prefixed to the following

words in order to obtain entirely new words ? (Same
lotter has to be prefixed in all the five words of each)

it e A A e waR & fan Frefale vl %
Sl -1 UHE FAR T o e §2 (i
o A et T e e §)
EAT OUR 1S AS AT
Ws ®H (©OC

D) B

M
From the given alternative words, select the word :

which cannot be formed using the letters of the given
word : =




25,

26.

In a certain code, LUTE 15 written as MUTE and

GATE is written as HATE,
{ !
written in that code ? hen how BLUE will be

el wve  LuTe W MUTE % %9 ¥ 3fit GATE 31

:gwmmﬁ feran s &1 et #rg H gLUE B

s ?
~A) CLUE B) GLUE
() FLU[J (D) FLUE

In certain code FARMER is written as MAFMRE, in
lhﬂf.l.m.il:‘ which word will be written asGIVALEL?

[ELiEI R FARMER =1 MAFMRE ¥ &9 ¥ formn
TR S 161 aﬁrmﬁz‘ﬂuvmn & ' wF-m o=

3
»

29.

‘{"'{A} vmlul (B) VAGIELL
(© AIGALE (D) VELAIGL

In a certain code language ‘481’ means ‘sky is blue’,
‘246" means ‘sea is deep’ and ‘698’ means “sea looks
blue’, What number is the code for “blug’ ?

ol =1 s # /481 A7 sky is blue’, ‘246"
A4 ¥ ‘sea is deep’ 317 698’ £ a7 % sea looks
blue’, “blue’ 3 F1Z & for -1 Hen 32

(A) 1 B) 6 (C)8 @ 9

In the questions given below, the symbaols used are

as
A = equal to @ = notequal to

+ = greater than & = less than

— = not less than O = not greater than

Read the questions mark the correct response, If
X-Y-Z then it does not.

frrrferfaa W & v faw 99 wan #

A = & AL @ = % TR TE

b o= R ¢ =HFH

— =¥ ®A TE O = 8 =31 7

v ) afgn et wd I w fm @ Al

X-Y-7 0 % T &2

(A) X@&YAZ (B) XOX + Z

Q XBY +Z D) X@Y - Z

Same equations are solved on the basis of a certain
system. On the same basis find out the correct
answer for the unsolved equation.

@mmﬁﬁﬁmmﬁn#mmmm
&1 F v w fa g fg i 5

IOt A Fif |

4-5-1=514,3" 5-6=563 0=b=8=_27 (A) 5'|=I‘nff4'?.=ﬁ ;

(A) 860 (B) 680 © 40km/fEd,
6 ‘D) 068 ol

(C) 80 (8] e L

Directions : In question numbers 30 to 34, 5e]actﬂ1g sin
number from the given responses. :

firdyr ; mmmﬂﬂﬁﬁqmﬁmﬂﬁﬁ'ﬂﬁ. ._
Fifora |

30,
B 36 121 81
1 '
T 100 i
(A) 40 (B) 30
31.
(A) 3564
(©) 6543
32 2 4 2
3 9 3
4 16 4
B 64 7 -
(A) 16 B) 24 © 8 ™ 9
33. I 25 15 40 8
I 65 25 807
Mm 45 15 60 12 .
(A) b (B) 12 © 18
34, 18 21 24
3 49 3
6 1 8
21 26 2
(A) 22 B) 24 © 27
3s.

Sohan drove 15 km to the west from his
turned left and drove 20 km. He !
and drove 25 km and ﬂn‘ni] 1t




Directions : If you start running from a point towards North
and after covering 4 km you turn to your Left and run 5 km
and then again turn to your Left and run 5 km and then
furn to Left again and run another 6 km and before finishing
vou take another Left turn and run 1 km, then answer the
following question based on this information,

frdtor ; afe e I fan A el wom & S e # #
s 4 fop.of, dve % g e gy oA ¥ s e, dea ¥
sire o A A et 5 6,10, e ¥ o a fin 9 a qaet
o f vt 2 & 3y e e A veet s i R ain e
| f 701, ved ¥, @ 90 ST &% smar W Prefafan g
71 I FIfS0

36, From the finishing point if you have to reach the

point from where you started, in which direction
will vou have to run ?

(A) East B) West
() North (D) South
A QU R F A A 3l o AR e FE & e
T A ¥, @ fra fam F 2E0 2

A) T (®) ufvaw
(C) 3t (D) =fegm

Directions : In question numbers 37 and 38, one or two
statements is given followed by two Conclusions/
Assumptions, Tand 1. You have to consider the statement
to be true, even if it seems to be at variance from commonly
known facts. You are to decide which of the given
conclusions/assumptions can definitely be drawn from
the given statement. Indicate your answer.,
frdor ; v @ 37 51 38 9 W @1 &) FEaen faa g,
fperin st &) e/ mrrand, 1 afe p Frearet ma €1 @R
ferame el o Heaeg wew € AR 98 ST 96 a2 4
fisy Trefrer e 1 1 R i e o fau o e W A
#r- Fifree =9 A 6 Frepd/wre fehmen s g 2
37.  Statement I  All poets are daydreamers,

Il All painters are daydreamers,

Conclusion 1  All painters are poets.
II Some daydreamers are not
painters.

(A) Only Ifollows (B) Only I follows
(C) NeitherInorilfollows (D) BothIand Ilfollow

TR 1 u wfy feamers gwt
i wsft fraa feamaa g €
e 1 g fmn wfa g

n 9 faas ge fewr T ¥
(A) FHaw fred | Fremerar €1
(D) forerd 11 Fremern 2 1
10 = forewd | i @ e 11 Feh €|
D) feerd 1@ 1 2T Frererd &1

38,

40.

Statement 1 Some men are good.
[l Somemen are wise,
Conclusion 1  Some wisemen are good. L)

1 Somegood menarewise.
(A) If1alone can be drawn
(B) 1f both | and Il can be drawn % A

= J

(©) If Il alone can be drawn
(D) If both cannot be drawn

aqqA 1 %9 oifw a0 §i
%9 = afgam €
Frend | &9 gfgum @t o= ¢

N %9 3= Al A6 €
(A) e Fad | Fraea B
(B) @i 1 e 11 forerd Frererd ¥ 1

Identify the answer figure from which the pieces
given in the question figure have been cut.

Fary fifn T anfa W W g A Ry T g
9 e MY 2 '
Queatiunfigurc!‘ﬂﬁal'l'éﬁﬂl':

A
2S

a\.nswerﬂgum}ﬂﬂ'{'mg' .
W=y o

® © ®
From the answer figures, select the cut pieces from
which the question figure is formed/made.
T ATFA A FE T I JHE A F A
Lot S TR
Question figure /W97 3TeHfT:




1. How many circles are thero in this figure ?
(A) 13 By 16 (17 ) 22
42, Which one of the fire

as marked [« VI represe
e ‘presents the
urban educated whe are not hard working ?

L3 Vi sifam ol 8 9 T g
ﬁﬁ&maﬂﬁamfm#ﬁvﬁﬂqn‘fﬁ?

/ \ Urbsan/ 3

’ 7 | I-.Irll'l.*r:lurkir'l.g_j':I'Ru"?ﬂr

O Educated /Ferfar
=

_[9 IV (D) 1

(A) 11 (B) I

43. Identify the diagram that best represents the

relationship among the classes given below,

Soda water, Mineral water, Liquid

irant e wraree s frerfafia aftf & i d@n
) waffi i #

rivey afzr, frrrel At ffs

In the given figure 10% are students and
another 10% are students and teachers and
I5% are teachers and pamnts. 35% are 8

and teachers, How many percentage a
teachers, parents and students ? \

st gt # 10% BT st s firn § qen
aftr fogr < ara - firen 15 fneres S s
#1 159 21 3 fous 81 fFes wfom Saa

- fn sfie e ¥ 2

M,

r.tw'tmlrtll /)
o b O

Parents/
g i
(740, 65, 45 (B) 65,40, 45
() 45, 40, 65 (D) 40, 45, 65

Directions : Inquestion numbers 45 and 46, which answer
figure will complete the pattern in the question

fordbor : v e 45 5146 1 FI HI T SHT T 3
& vy &1 70 w2
45.  Question figure/ W97 HTHT :

=

Answer f igures /37T ail'l’giﬁl'ﬂf :
(A) B) ()
Question fi gure,’m-aﬂ'ﬂ?ft‘[_ 3

e (=]

16,




47

From the nswer fipu .
i hidclen/embedded n qumﬁﬁg which
40w I arpfedl 8 R O sRfs W S v
’T"'T-”ﬁ' oo gl e )
Question figure /WO 31rexf .
LT S
{ | | |
I il
;xn:werf!gurm,fwaﬂq?w
!_
1 l Q g il
()

A piece of paper is folded and cut as shown below
in the question figures. From the given answer
figures, indicate how it will appear when opened.

A8 WA sl # ey sRER TS ) Al

I A Ee o AT 9@ e I e S fear

&m?

Question figure /W97 Wﬁ‘l -

Direction: A word is

numbers as given inany one of the alty

sets of numbers given in the ali
represented by two classes of alp!
matrices given below. The

Matrix | are numbered fmmD |
Matrix I are numbered &bmsﬁ Al

e

Sl

th%w nmtl:':ces ca? be re 'ﬁ st
and next by its column, e.g.,’ m

by 01,14 etc., and Ecanbere .

Similarly, you have to ident Pg{h&ﬁ&t
"ORGAN’. ool

fordor @mmmm-
] ﬁmfxﬁmﬂn’ﬁm
famwﬂﬁtzmm- :ﬁ
¥, S e

e ot dfea w1 gm0
HH5HO | EW%W
3 e H Tqe Hen g

¥ ferm e A & 01, 14 31

F 55, 66 32 BRI T
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A B ot )
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40,

41.

43,

449.

45.

FO S

Select the related numhbers
alternatives,

few e foremedt o 9 wiafim wem 1w adfi
287 :4::006: 2

(A) 87 B 6

from the given

(L 7 (D) 15
Find the odd number from the given alternatives
few o feammedl # 9 fawn den 3

(A) 74 (B 84 Q) 64 (D) 94
i-'l|m] the missing letter of the series

JEE T T AT e wifr

CX.EVLIR, 7

(A) ]G (B) FU (O KP D) LO

Ina certain code language

(1) 453 means ‘Pens are new’

(1) 362 means ‘Boys are young’

(i1i) 598 means ‘Buy new clothes’
1.*..-'}1:¢-I1.Lii;.-,|r in the language means 'pens’ ?
fordt s v o .

(i) 453 %1 59 B ‘Pens are new’

(i) 362 1 314 ¢
(i) 598 &1 #1¢ B ‘Buy new clothes”

v v 7 forw fe a6 el pens’ 2

(A) 3 (B) 4 (C) b (D) 8
Which single letter can be prefixed to the following,
words in order to oblain entirely new words ?

ol wE | Y wes w9 w fou Frefates vl &
gl HIA- 91 THE &R TR A Fehed ¢

ROPE RAY READ OWN EASE

(A) A (B) H ©Q T ()-8

Insert the symbolic operations in the following

Boys are yi ung’

numerical figure. it -
frfifis WA S 4 WdlhieTeh A ey ;
53,3,5, 5=50

(A) x+-

@ ++X

How many 5's are th
series which are preceded by
by 87? .
ﬁ:;:rf‘?fﬁaﬂﬂm st H 0 5% 3 e ¥ e
e 3% o & utg 41 7 8 1 31 T 82
458327351 7B935831352

(A) 4 (B) 3 (© 2 D) 1

(B) —+X
(D) X+

ere in the following number
3 but not followed

{ HANDICAPPED/CEREBRAL PALS
e gieafia/aftae aed sefteart & O

6.

45,

49,

50.

NI

Identify the wrong number in the given series:
#t 71é sjmen ¥ WeTd HEA 9w | '
7,28, 63, 124, 215, 342, 511 |
(A) 7 B) 28 () 2

Ramu walked 50 meters towards north and Ry
iy i thec lockwise 111'r't-s't|nn.lml walked “] 'y
and then turned 45° in the anticlockwise di
and walked 20 meters, Again he turned 1808
anticlockwise direction and walked 20 metres Fis
he turned 45° in the anticlockwise directionang
wialked 50 metres, -

Which direction is he facing at the end ?
T 50 ez T fown # wen it 2= fm
e |0 AT wer i e wt wt ferdi e
wEeRT 20 2t wen | ag fie & wE %) favdia s
|80° TRT 20 72T TG | THH 491G 9% FEl I o0
ferom 1 45° T[EHT 50 HieL e |
Aq § Iu qa e fom w5 ARE?
(A) East/9d (B) West/qfewm
() South/gl#m (D) North/3

© 124

Identify the missing number.

18 12 8
8 15 7
2 3
(A) 5 (B) 1 © 4 D) 15

Find out the word which cannot be formed fi m:j th
given word using its letters ; .
an e {1 i o) fau e v % ReR) g
I Aol AT A Hehen A
LABYRINTHINE

(A) REINHABIT

(C) INTERNALLY

(B) TRIENNI/
(D) BILINEAR
If in a certain code LANGUAGE is
CIKJSIIP, then how GARBAGE can be writteni
code ? )

afe frll 18 1 LANGUAGE %1 CIKJS!
fera =i %, 1 39 F18 § GARBAGE
e ? o
(A) JITCHP ;
© PICT) ©




PART - B / w1 - &
GENERAL AWARENESS / AT SR

State Bank of India was Previously known as
(A) Co-operative Bank of India
(B) Syndicate Bank

(©) Imperial Bank of India
(D) Canara Bank

I'he business in stock markets and other securitios
markets is regulated by :

(A) Securities and Exchange Board of India

(B) State and Exchange Bank of India

(€) Stock and Exchange Bank of India

(D) Sole Trade and Exchange Bank of India

1ot AT A 3= wfavfa amm s w6 frm
Ay FaEfeEs wre taads 9 & sfrsa

(B) Tz uvg s da oE gz

() =T UvE UsH<a a9 Ah 3wl

(D) e 2T s tFrdE o AlE e

The Liquidity Preference Theory of Interest was
propounded by :

(A) J.M. Keynes (B) Alfred Marshall

(€) David Ricardo (1) Adam Smith

st @ wafua wE afir fagrd &1 A

=i fman 41
(A ﬁw. '&Fﬂ
) SfagfE= |
Which of the following costs is related to Marginal
Cost ? 6
(A) Fixed Cost
© Pﬁmé.i. e
freaferfa il SR 1

55.

56.

57.

58.

-
GEF, an international aid-giving agency has the full
farm :

(A) Global Educational Fund

(B) Global Environment Fund

(©) Global Energy Fund

(D) Clobal Economic Fund

LU, v st arqEre wae we A v
T e E T g

(A) Telrare Dk He

(B) T gAreite e

(C) Teirae el e

(D) veiraE vyt he

Autocracy means ;

(A) Absolute rule by one

(B) Rule by few

(©) Rule by the representativesof the people
() Rule by king

A Y E

() T o wfie g Frig wiwe
(B) %% % B

() wrerafafafir g s _ +
(D) =N B wEA

What is ordinary law 7 i 4
(A) Laws madeand enforced by the _,ptt_ nent
(B) Laws made by the common g eople

(O Lawsmadeby the supreme court
(D) Laws made by the high court
A fafv & e s 82




59, F

60,

61.

62,

63.

?N{“I'il‘n belicves inthe rapplication of the principle
0

[—’_"'l] '_lf‘mt'h‘hlt'v (B) Utilitarianism
(<) !.’hrl.unmhip (1Y Totalitarianism
I w1 ey g fagra | IR R &

(A) W= B) Awifiarae
(©) ) (D) waawmae
;Ln'u name of the upper house of Indi; N parliament
(M) I.Inu.wuf Lords  (B) Senate
(C) Rajya Sabha (M) Legislative Asse mbly
?m?ﬁu HAQ & A /ISG F) fHw AR o
!
(A) TER A EE 3y B
© T ww () faum awy
Who is considered founder of the Gupta Empire ?
(A) ChandraGupta Il (B) Chandra Gupta |
() Samudra Gupta (D) SriGupta
T AR 1 G o e s 2
(A) F=4 I By =T |
(© ¥HaTa (D) #re
The Battle of Plassey was fought in year:
AT I 4G fFE A gan e ?
B 1757 (B) 1775 (Q) 1576 (D) 1761

Mahatma Gandhi began his political activities in
India first from

(A) Sabarmati (B) Dandi

(©) Kheda (D) Champaran

TS 3 wRE A Al e fafatie w1

T8l A e o

(A) HrETHEH ®) =i
© e (D) TP

Liberalism stands for : :

(A) freedom in social, political and economic
aspects

(B) religious orthodoxy

(C) a movementand an attitude

(D) self emancipation

AT fdaes| @i €2

@ T, vt qon snfeld aRes i T

65,

iy,

67.

68.

69.

70.

The Women's Reservation Bill seeks I'u;m! '
reservation for women in the state asse -
Lok Sabha ? ,',,
e faur o awn wE g o whensd & 5§
srearon firen W fieer) o 1 s <6 w2
(A} 25% (B) 30% g(;_'} 33% L) 36
Which was the first hydel power project in Indig
(A) Paikara in Tamil Nadu

(N Pallivasal in Kerala

(€) Sivasamudram in Karnataka

(1) Nizamnagar in Andhra Pradesh

T A T WA RIEE T e R ?
(A) ferrg fega qeda

() e fea Yeframra

() wetes fegm faamagEn

(D) sy g e Farerm

Earthquakes are caused by :
(A) Tectonism (B) Denudation
(C) Earthrevolution (D) Earth rotation

e &1 HH
(A) I (B) FIr=sid
(© v ey D) 4

The Mediterranean region are characterized b
heavy rainin: -

(A) Winter (B) Summer

() Spring (D) Autumn
ST Tyl 3 RO SHHTE & THH
(A) Wiag . By T FE A

{6 e g H () e H

Spring tides occur on
(A) Full moon day only
(B) New moonday only
(C) Theday whenthe moon’s position s init
quarter '
(D) Full moon day as well as on new moon
ayE W ed S e 38 €2
(A) e yotam feam w
(B) e armEe & faq
(6 34 T w7@ s =) fearf worm =
(D) vt srreren & feq

The earth completes one rotation on its &
(A) 23 h 30 min

(B) 23 h 56 min 4.9 sec
(€) 24h

(D) 23110 min 2 sec

S ST T e U e
(A) B0



74,

7. The Environment (Protection) Bill was passed by

the parliament of India in :

YR W1 Hae |yt (g fim vl o
foem .

(A) 1986 (B) 1972 (©) 1981 (D) 1984

Microhial I'ype Culture Collection Centre is situated
at:

(A) New Delhi (B) Bangalore

Q) Hyderabad (M Chandigarh

Hewsitety o & ¥asa #1 w0en g ael frug @
(A) 78 fewef (B) “rEn

(© emam () "z

Waksman got the Noble Prize for the dim:uwry of;
(A) Streptomycin (B} Penicillin

(© Neomycin (1) Chloromycetin
LRIl T e ot e R e TR fam
™™

(A) TR ®) HiIfE

(© Feimefos D) FermmEfafs

When one gene pair hides the effect of the other unit,
the phenomenon is referred to as :

(A) Mutation (B) Dominance

(O Epistasis (D) None of the above
W8 U SfA = T % o 1 fowm #, d 2w
HedAl 9% Feernd .
(A) TefEd (B) wifam
(© Tfefy (D) 39 § Fd e

Xenobiotics which are inhere
microbial attack are called as -
(A) Biodegradable (B) Persistent

() Recalcitrant (D) All of the above
SATATITea 1 aersfete st 3 g s
&Y 4 yferindt & o wwem €

(A) TfEidam (@) whwsw
(© fidedie= (D)3 |t
Molybdenum deficiency affects the activity of ;

(A) Nitrogenase (B) Nitrate reductase
(O Chlorate reductage (D) Allof the above

ntly resistant to

2.
(4) T (B) e fgas
© =i fggey (O) i i

IreftfagTm WMMﬁmm :

77 Whenahelium atom loses an glectron jt ecomes ;
(A) an alpha particle B 1
(B) aproton
() apositive helium ion
() anegative helium ion

TR ey St et v o e e
(A) STEE H)
B) Wt
(© v diferm s
(D) e giferam s
78.  AFusewire is characterised by ; |
(A) High resistance and high melting point
(B) Low resistance and high melting point
(€) High résistancé and low melting poin
(D) Low resistance and low melting point

U S W1 AR R §T T 5 FTO A AN 2

(A F9 feioeren aen 3= T

(B) = wfaivee au 3o Teris

(© 3o wferosran g1 =gm e

(0) =y wfrew ae1 =wam e *
79.  The Dynamo converts ; 1

(A) Mechanical Energy into Electrical ner,

(B) Electrical Energy into Mechanical

() Mechanical Energy into Magnetic Energy
(D) Noneof these

ar @ aftafi - r'r“_.
L ) e S g () S
(©) e St Y i s i

©) T A F

80.  Foramissile Ihurn:her_lx - locil
earth’s escape velocit s the total ene




§2.

83,

86.

The father of computer is
(A) Charles'Babbage (B) Charles Dikens
(€) Oliver twist () Love lice

WY & WAE
(A) WreH #aa 1) =red 2%
(©) e g3 (D) & =gy

Heavy metals got their names because compared to
other atoms they have ;

(A) Higher atomic masses
(B)  Higher atomic numbers
() Higher atomic radii

(D) Higher densitios

RUURC LGB EE R it e
T W e aw v #
(A) % WO gemm
(B) I TRy e

(C) F=7 THEE faon

(D) 3=3 W&

R B

The technology used in the electronic printer is
called : |

[{\} M_icmarrﬁ_n.r (B) Micromillimetric
(C) Microencapsulation (D) Microtechnology

verw i fife 5 forg wivitfivat a6 waimm fa s &

% 1 FEdd § 7 _
(B) HEFIHeTfes

(A) TTEsH! Y
(C) FTEHIETHOE e (D) HIEHIewATET

Cyanide poisoning causes death in seconds
because :

(A) It breaks the electron transport chain

(B) Itdenatures enzymes of the heart muscle

(C) It causes cardiac arrest

(D)) Itcauses lysis of red blood cells

FifF - Al
(A) TR Al ofaen @) ARl
(B) 7@ g2 W1 AT  UEEH Y AT w
A

(©) wifdTs T wra

(D) e v = (rmtad] 3 o1 S wm B
Fheore of Aluminium is:

(A) Bauxite (B) Chalcopyrites
(C) Hematite (D) Fluospar
UEHHI9 &1 st .

(A) = (B) FFermargde
(©) ®ErE (D) wEsiem

AEe favrra & won w7 ge 8w 8,

lace the grass

In the grass lands, trees do not rep ok
.115 a l;a'rl of an ecological succession because ofig

A) Insectand Fungi :
Hi) Limited sunlight and paucity of l‘llltﬂi!ﬂi!E:: -
(€) Water limits and fire
(D) None of these _
afifefi AEE % FRO A AE A A P .
1 8] T FR A P -
(A) #1231 Fa &) Jureafd |
(B) I A % T A9 G 1w b R
() ifaa 9@ =1 g A Aie .
() ¥ B e Tl -

Which of the following can be found as pollutants
in the drinking water in some parts of India ? -
{a) Arsenic (b) Sorbitol 4
(€) Fluoride (d) Formaldehyde 3
(e} Uranium .
Select the correct answer using the code given
below :

(A) (a) and (c) only

(8) (b, (d)and (¢) only
(© (a), (c) and (e) only
(D) (a), (), (c), (d) and (e)

B7.

HE,

WA & & @il i e

e YT S 2 d

(a) ST -
() Wi () T -
(© Ffm ;

1 fay 7 e W R
11 : e

(A) T (a) 341 (c)
(B) T (b), () A ) L
T (e, (LI
O @00 e
ey

89,



Photochemical Smog is a tesultant of the caaee:
SHong of the reaction

(A) NO,, O5 and peroxyacetyl nitra
presence of sunlight 2 te in the

(B) CO. O, and peroxyacety] nitrate in the presence
of sunlight

(C) €O, CO, and ND: at low temperature

() High concentration of NO,, Oy and CO in the
evening

weRTe- TR T4 w8 sl = afom §

(A) # v w1 3afeafa { NO,, O, A Tt
g w1 afeafy 4 CO, O, AW vt
nfafeet amgez

&Y 919 9 CO, CO, 791 NO,

ar & guA NO,, O, 391 CO 1 351 U1

1.  Whodiscovered the first antibiotic ?

(A) A Fleming (B) W.Fleming
() C. Waksman (D) Louis Pasteur

(B

(L)
(1))

wos Utamfes =) wre faas w5 2
(A) T AT (B) B WA
(©) =, A (D) A qrEe
92,  Who Directed the film on the dacoit queen Phoolan
Dewvi
(A) l;.ﬂlil Kapoor (B) Shekhar Kapoor
(C) Shashi Kapoor (D) Abaas Mastan
Tha FH Fer de WO fRen aE T S
frdym fmm T 2
(A) #rfer FQ (B) YT
(C) wfen Y3 (D) eaTs HEm
93, On 2™ June 2015 a conference on Make in India -

| Indigenisation of currency was crganised '?y the
| department of Economic Affairs Ministry of Finance
Govt. of India. Who inaugurated the conference?
(A) Finance Secretary (B) quemnf R.B.L

(C) Finance Minister (D) Prime Minister

O fyegs 9 e gt faTeste St wHl' e W
25 2015 fere ST 3 g AT fem A

form vt a1 ST T o0 T S f

96.

97.

98.

B &S

(A 217 (B) 2
* 25 ©

A

(A) faa == a‘l,a:@ |
(©) fam s ;
When International “Yoga D
(4) 21 May @ 21%
(© 25t April D) 21%]
. Hm-q u.libm mn .m

99,

(A) Ghazal ®) D
Q Thumd © D) N
I e i ) we

(A) A

(©) i

In which year did Dada
First Feature Film ?

The Classical Dance of Andhra Pracesh s

(A) Kathakali Kuch ni e i
(15 et %m atanatyam
Y A w A g
(A) et ® Foigf | Ay
(© 3 (D) woER

Raga Kameshwari wascomposed by: ‘-

(&) Ustad Amjad Ali Khan
(B) Uday Shankar _ :
(©) Pandit RaviShankar
(D) None of these -

-
e ¥ T fe W W

s

Indian first talk illh::. du
() Shakuntala

(© IndraSabha
1931 ¥ W
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PART - C / W - T 26
QUANTITATIVE APTITUDE / uftaromaras
105.

101, Find the Square root of

__{_lr.t_}n-l—-—_[l._mmj (016 ~ 0.04)

(016 + 0.08 + 0.04) (0.4 + 02)°

__“IU__._UE!_:'U.{H}H} (0.16 - 0.04)

(0.16 + 0.08 + 0.04) (0.4 + {I.?.]‘?‘ » SRR
2 I .

h — -

Wis e s ® 5

102,

103,

104.

If the cube root of 79507 1543, then the valye of
V79507 + Y0.079507 + 0000079507 is
& 79507 %1 o e 43 % ),

V79.507 + ¥0,079507 4 Y0.000079507 F1 =R
-

(A) 4.773
© 04773

(B) 47.73
(D) 4773

Acandoawork in 10 days and B in 20 days. If they
together work on it for 5 days, then the fraction of
the work that s left is :

A Ve 1 110 el F B 20 feli % w5 waan )
ufe & € frerant 5 el a 30wl =) w0 ¥ 5 o
&1 e si s 2

A 29

1 3
4 ©) 3

4
B 3 ©
Pipe A can fill a tank in 4 hours and pipe B can fill it
in 6 hours. If they are opened on alternate hours
and if pipe A is opened first then in how many
hours, the tank shall be full ?
1Y A U I o 4 He H oL g ¥ et ey B e

6 %72 T VT Wehal § | 9 3¢ UaH-UH Hel Brged @ietl |

ST #HR TG A Y el Wietl Sl € 6l 45 (had Hel
o o ?

1 2

@ 47 @ 43 QR

106.

107,

108.

109.

i "._'ﬁ;l':g__\f.ur )r? 13
T = %92
1 )
0.
srfusta

A, Band C can do a piece of work in 24, 30 and
days respectively, They heganlthe work togy
but C left 4 days before completion of the wo .
how many days was the work done ?

A, B 2 C 1w e 1 A9 24, 30 3040 oAl 7Y
wad ¥ 1 3 - e wP O S R feg
3 w1 g A 4 fom v @ Bre T wT e
fet & qo fofm 771 2

\Jg_c;/u-

(A) 11 (B) 12
The length of canvas 75 cm wide required to build:
conical tent of height 14 m and the floor are;
365 m?is
75 ., e are FaE | 14 A1 SO0 &t
346.5 1.2 wyf &3 =t vig 22 oA % o FAam =
g § :

(A) 665m
(C) 490 m

D) 14

(B) 770 m
(D) 860 m

The percentage increase in the surface area of a cuhi
when each side is doubled is ;

UF ¥4 % Wi Wed %) QA F 8 W HaR ANee
W #A =it 9fg i &

(A) 200%  (B) 300% (O 150% (D) 50%

The ratio of each interior angle to each exterior angl_é
of a regular polygon is 3: 1. The number of sides of
the polygon s :

U UGN & VeI Atafin Fvr wE afeenm
AT 3:1 %1 TGS 1 Frerft oo # 2
(A) 6 (®) 7 © 8 D) 9

List price of a book is ¥ 100. A dealer sells.

such books for T 274.50 after allawi'ng discount at

certain rate, Find the rate of Haconr B

U G el < i 2100 1 e fen
(A) 8.33%

B 3168 o
ﬂj) 8.34

© 85%




110.

111.

112

The printed price of an article is 40% higher than its | 115, 'l‘hln averape of 7, 11,185, a 14, 210,25 ks 15, then e
st price, Then the rate of discount so that he gains value of x is:

T;-:‘l.';r::i.l CA T 7,10, 15, x, 1A, 21, 25 1 sfiad 15 8, o oo we ¥y

v e 1 Sl e AUk ST HEd 9 a0y, v (A) D (m 145 (€ 12 () 1

&1 @ 129w a A & e 3E W A SR Al | 16, Cost price of 100 books is equal to the selling price
gew el of 60 hooks. The gain percentage or loss percentiage

ey % 3 1% %) 18% s :

o 2”:. s Iﬁ::“"! 11':,1: llowing \{:I:Muum 100 1_1&[’55'1 1 ST e 60 gtﬁ&’i ® fees m t
A shopkeeper gains 17% atter g 1 & clise : )
of 1[‘](’.-‘}{‘:1:1 t[hu :uarkml price of an article. Find his a1 e e i ey wlirern %

yofit percent if the article is sold at marked price _ 9 4
L]Inwing no discount. (A) 66'% (1) h’ha% © ﬁ{:a% (lj: O7"%

: & aifad &1 7L 10% W @2
% SRR I 0w e A = 7. A man spends 75% of his income. His income 18

% e 17% o a8 afe 39 aw ® e fa | 1 1
il E PR S (g 2 increased by 20% and he increased his ex penditure
fig1 i febe T TR A SR @ w0 ) e i by 10%. His savings are increased by :

%1 e i ST st 75, e w1 e s
A) 3% (B 27% (O 30% (D) 37% 20% ae i ¥ o aw sren @ 10% w0 A
The measures of two angles of a triangle is in the arr) w9d e IW?

ratio 4 : 5. If the sum of these two measures is equal 1 .
to the measure of the third angle. Find the smallest (A) 10% (B) 25% (©) 3?_2'“" (D) 50%
angle. ) -

: S . 118.  Rajand Prem walk in opposite direction at the rate
T'r'q;_ﬁ'ﬁa &4 '-‘aFFTII u: ‘TTT"I:TH --}T?ji"ll“ﬂ 4:5%1 AR of 3 km and 2 km per hour respectively. How far
A1 AT 1 A S I W & A @ A e will they be from each other after 2 hrs ? i
FII AW HE | s g 3 ffl sive 2 feaft, gfeeta ®)
M9 @S  ©1 O nifer 2 fererdia ferm o e 4 ) 29 W A O R A
A and Bentered into a partnership investing 16000 fiperft gz i 2 _ -
and T 12000 respectively. After 3 months A (A) 8km (B 10km () 2km (D) 6km
withdrew T 5000 while B invested ¥ 5000 more. hh
After 3 more months C joins the business with a | 119. A boat can travel with “ﬂp‘_m_d of 13 Wh&h st
capital of T21000. The share of B exceeds that of C, water, It ﬂ'f“ speed of stream is 4 km/hr in '
out of a total profit of ¥ 26400 after 1 year by : direction, time taken by boat to go 63 km_in_ pposil
A STB 3 T grEERE F SR 16000 i dlnﬁ:1&tmﬂiaﬁ#m-ﬂﬂ"f
212000 f339 favan ) 3 WER & == A 3 25000 Frame “ﬂ%t N &mﬂmmm
feu 3 B3 25000 3 e fav | 9 wEEl & wm it iﬂ' “ﬂl Mﬂﬂhﬁ. i
C % 21000 1 §it eI FHER § i @ -3
T T 91 226400 F o H bl fean C H fwa
Afiew 7
(A) T 1200 B) %2400
(C) T 4800 (D) T 3600
Out of four numbers the average of the first three is
16.and that of the last three is 15, If the last number
is 20 then the first number is : :

A Hers 4 ves diF w1 oia 16 # sl sifim @
W afved 15 81 af oifon o 20 ¥ @ el Wom |
s o o
(A) 25 (B) 21 < 23. o) 28



I

. Ly t 5

- - q
e - . v 3 g9, - il i T
121. II: m an =2, then the value of (m*—125n 30mn) 128. K thesum of Wontmbers dnent s '.i'-*.-
& m - 5n= 2%, f’h{n‘r1 ~125n* ~ 30mn) F1 HA # the other is 50, then the numbers are; .
(A) 6 By 7 © 8 D) 9 ﬂﬁﬁmﬁfmmsnﬁﬁﬁtﬁﬂ’ﬂ o 4
122, Given that ¥3 4} =72 and Xy =6 with x >y, then 7 . TR, A Hed € ?;-'
the value of x— yis ; 5 240 110 0 100
?ﬁ_r"ai-_!r‘:?'zﬁm.ry:ﬁ?fﬂ‘ﬂﬁ x>y @ x—y (A) 7 (B) 7 ! ?'
w A 115 235 150 200
(A) 4 B 2 Q -2 D) -4 (©) eI ©) 7 A .
B ee— _ 129, Two circles touch externally. The sum of the
123, Ifx = Jﬂ bVa Vb..oo, then the value of xis is 1307 sq cm and the distance between £
_ » \/ Qf '[_Ef— — is 14 ecm. The radius of the smaller circle
e x=yaybyadb.. .. © %, A = T | ﬁﬂﬁmm#w?ﬂﬁt‘m
¢ : "'\3;.? 130 w7 A3, ofit 7% F7 ¥ 42 91 70 148
W Yo ® 5 P Bl 37 & shamna o 8 % e 8 3
- : - (A) 2em dem (@) 4em
© a3y () %’},35 130. ABCisa triangle and the sides AB, BC and
1 produced to E, F and G respect
i = : 2,0 8 ol ZCBE= ZACF =130, then the value of
124, l'f_.l * 7 = Z.thenthe wl.ratuc nz.r_ "3 Is &BCEﬁEﬁt&‘rﬂﬁﬁ;Bﬁm{% o
‘(ngﬁ) xts=28R - me, 3 G 1 forem el &1 afs ZCBE = ZACE=
; x # W ZGAB %1 W # ; Ly
Lo A) -4 B) 4 C) 2 0 . = : gk
'.’I_Gfx 7 W { © o) _ WA @) 80 1300 D) 9
x_3 , _ 131. lfl'wun'sediansBEandCFufaum ngle Al
125. If v 4 the ratio of (2x + 3y) and (By—2x)is: each other at G and if BG=CG, BGC
s BC =8 cm, then area of the triangle A
X
ﬁﬁ"=-%,?h(2x+3yaih3r-z.ranaﬁum%: - N
Mo y 4 g it *‘«f‘m., G W wfewe 74 ¥ 2in afz po -C
NG~ vy ; OBz, i da e BC=8 #.. ?, o fvw ABC?
A)2:1 : : : s
: 1 X2 4 3x+ 1 (C) 48 em?
126. If x + — = 1, then thevalueof 213X * 1 i5:
X

et S 132, Ina rhombus ABCD, £A =6

7 the diagonal BD
qﬁx+l=1!’.iﬂwﬂmt:ﬂ mmﬁqm
= 2 4 7y 41 mw :

M3 ®; @2 O

127. A number exceeds its two fifth by 75. The number
is :

T o 1w % 475 S |8
. ,\_{}a/us ® 100 (@112 @150 [



I PORS is .}:hur‘nlul'- and 25PQ = 50" then £RSQ
is ;

e PORS 1 g & 9 LS00
g

{A) 75°
ABC is a cyclic triang

ZABC and £BCA meet the circle at
respes tively, Then the angle ZRQP is

ABC v aga @R st /BAC, ZABC 2T /BCA
& fwrad 9 W AT P, Q st R w fred ®1 A

500 8, @1 £ RSQ

45" Q) 55° (D) B5°

e and the bisectors of ZBAC,
P, Qand R

(1)

_,']{f__ﬁj‘ hl -$;]'fi i
B
” TR
(A) a0 5 (B) 907 3
A ) i
{{"'_I oy () = - =

XY and XZ are lﬂﬂ}_;l-'l'll*' (e circle, ST is another
gangent to thecircle at the point R on the circle, which
intersects XY and XZ at Sand T respectively, [f
XY =15 emand TX =9 ¢m, then RT is

XY 3 XZ W 99 %1 o7l T | g9 F @GR
&1 3T T Tl # S XY 9 X2 F FH: S A
Tt FEA R AR Xy =158 5. & X =941,
2, @ RT fohern 72
(A) 45cm  (B)
The simplified form of the given expression
sinAcosA(tanA — cotA) is (where°= A S 90°%)
1w FAfEafa sinAcosA(tanA- cotA) 1 HEHT T

$.@ui rsASUD)

@ 75cm (D) bcm

Jem

(A) 1 (B) 1- cos®A
© 1-2sin*A (D) 2sin’A -1
OS5 cosa : Ty ¢ nﬂzﬂ
If —== Mand T o0 m, then the valueof ¢
sinp cosp
i5: :
cose _ cose _—
: ﬂft-s';é' “#Rmsﬁ , @1 cos”p .
2 1
. m
B Pt
A a2
i
g0 2 m? + n*

. “'_ - | > I Hﬂhunﬁ“

139,

The value of tan1® tan2® tand® ... tanf9" is: ﬂu
tan1® tan2” tand® .. tanB9" %1 T ¥ .

\Aapet ® 0
S == () None/®¥ T (}U
1'13

140, If tand + coth =5, then tan® 4 cot?0 is} RO ke
afe tand + coth =5 8, T tan?6 + cot?d F1HH B
;,W 23 (B) 24 () 25 D) 26

141. 'The angle of elevation of a tower from a distance
100 mtr. from its foot is 30°, Then the height of the 1
loweris: >
-
e i 3 e & 100 7. F g0 I e

30° %1 @ WA S
, ¥
(B) 1003 mir &“ga.}m

© soffmr o 10f
T

b’

A person of height 6 ft. wantsto pluck a fruit which

26
is on a - ft. high tree. If the person is standing

/'l—[ﬁlmtr
O

-

(C) :3';'3: mibr

142.

B ft.away from the base of the tree, thenat what
angle should he throw a stone S0 that, it hits the hf

fruit 7
14 o
ﬁa&rﬁﬂﬁwma'ﬁ%%gﬁ.ﬁqﬁ;
milmm%m&mﬁawﬁmi%
mﬁﬂtﬁlaﬁﬁmmq{wmm
A% e W A T ? o
e i) PSS (o I )
143. Iffis anacute mg}gﬁﬂ:{ :

thevalueof@is:




dﬂl‘ld production of dilferent
hand anisywer the s yquestion nps

- '.-.aﬂ“ﬁaﬁtﬁﬁ:mmﬁ??ﬂm
t‘{aﬁ:m# 144-147 %1 39T Z |

] s« Production
ERILT]

k) :"I
J R
' :'mu,

& - Demamd
Hm

L ol i s e B
Companivs/ Hwfm

. is ﬂw ratio of the companies havi

__ﬂ'lﬁl‘l Production to those
on than demand ?

ﬂmﬂhﬂ'ﬁ-‘ﬁmﬁﬁuﬂhmuﬁw

A A Srfrf w1 srpm a4
B2 B 2:3  (© 2:1

ing more
having more

(D) 3:2

ﬂﬂ_!,differenm between the average demand
verage production of the companies
.!Iﬂl;l_l_'_t;s} ? {ﬁppmxlmﬂtelvl

0  (© 275 (D) 325

: :I of company B is what percentage of
n of company F ?

” maﬁr F & Fe a1 oo Wi
< (© 80% (D) 60%

fcompany A is approximately what
and of company C?

80 3

ey polygon and ap
Study the following freque :
questions numbered 148 10 150, Given'a

showing the number of stude nlls ﬂaast; )
Secondary Examination in a school over g

2008 to 2013
Pt AT ARA 1 ST L AT T 1
1 I & | A T s ﬂqa:za;,-aﬁ?ﬂ 20088 2
i 7] 4 gy sy v H 3 @A A
e 9 T B

[ B[]
160 ! E.\
1401 i 5 :
120f M
110 L ¢
: : . ¢ &40 ; 3
0 "'n'us “:u'lr:rtr 2010 2011 1&13

148. The average of passed students in tﬁ ear
2009, 2012 approximately is: m

TN e - :.'
2008, 2009, 2012 # I} B "
HeE ] ST T 9 9

(A) 134.56 M -

(€ 134.41 D) 134

149,  The decrease in percentagg 11'_"'_:'_" sed

2011 to 2012 approximately ;-
=% 2011 9 2012 7 300 B A
H T et e o
(A) 822%
() 8.25%

The increase in percentae
2008 to 2011 approxi

2003 3 2011 G

J&/% . L

150,

“'___l!'

5!].555



146.

' 144,

145,

'5ﬂﬁ‘ﬂ1;rfaaﬁnm 4 v @ it F FHEe w0 A

22
L (A) 3198
L0 %198

g

FOR VISUALLY HANDICAPPED

Haet ?;ﬁ‘i'.'mﬁl'ﬂ/'{?iﬁ'ﬂ'ﬁ m'#ﬁ B g fera

Detween 852 AM and 1134 AM a traifl travels

Find the value ol

(1)

{B)}

If 1 kg of pure milk contains 0,245 kg of fat, how
ich fat 1s there in 14,4 kg of milk ?

afe 1 fEW. WH g9 7 0,245 M, Fw ¥, @

14 4 fron, gy | ferast |3 Bl ?
(A) 3528 kg (B) 3528 kg
(O) 3258 kg (D) 3.258 kg

['hree partners shared the profit in their business in
the ratio 4 : 3: 7. If they had partnered for 15 months,

O months and :’f I‘J'qu:‘|[|]k.|[t,]:"_q_ tively then the ratios
of their investment s |

4 ARl 3 A FEE A 4307 % I H 7
#fz 371 FEgl HAW: 15 wEt, 9 WR S

i

21 HEH 1%'."1 Al 7 Fordrw e aTma ¥
(A) 7:2 (B) 4:3:4
(O 4: 5:5 (L) 5:4:6

The diameter of a roller 1.5 m long 15 84 cm. If it

takes 100 revolutions to lev el a playground, find

the cost of levelling this ground at the rate of 50
g by |

paise per square metre [TT =

et et 1 2 84 AL § 1 AR TR

'l'-"lﬁ'l"\m
gl

@mmﬂ?ﬂaﬁwmeﬁfav 100 AR Sl

@) 198
(D) < 396

1485.

149,

| 150.

ANDIDATES [}\l\

1
l.‘ﬂ E il it 4 9 ke
2 miles, The average speed of the tralnis ;

qafa 8,52 Sl YATEA 1134 % @9k s

Bl .
101 i AT w2 W w9 s afa R

i o Lol
(A) 37= mph/HL. 7id =2

e

] 5 #
W0~ mph/Hl. ufa wal

ﬂ;}

Lkl g 7
e mph,/Hl. Tfa =l

(D) 50 mph/ 1. wfa \=

(©)

1.1
e sides of a triangle are in the ratio 5 3 1‘ If

the perimeter of the triangle is 52 cm, the length of
the smallest side is :

rr;;ﬁr[:ﬂq-ﬁgﬁm 2 3 'a\'aﬁm?lﬁfl 'qh
foget @1 AT 5211.#1‘!’??!@%%‘!2’? §[o
v faaedl &7

(A) 18cm
(€) 12em {D}?:meﬂ QUL
25% of 478 =7 % of 50,

4787 25%=50F12 %

(A) 231
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ENGLISH C OMPREHENSION

Directions ; In question numbers 151 to 158, some parts of
the sentences have errors and some are correct, Find out
Which part of a sentence has an error and blacken the oval
’L: ] m‘rmswlnding to the appropriate letter (A, B, ©). Ifa
nee is free from error, blacken the oval corres ponding

to (D) in the Answer Sheet,

‘.,-“'r--
151.
51 Eﬂhhﬂm:m.thwajmmbquuumhmrul wo. /
I ® «. (©

(D)

Directions : In guestion nu mbers 156 10 160 \

iv ! ks to
given w ith blan _ )
word(s). Four alternatives are sugERe
. . hve
Choose the correct alternatiV’ . &
it by blackening the .'lpprnpn.m aval |« the
Sheet.

156. Krisda's stories

(A) effected

) affected

~ me very strangely,
(B) changed
{ﬂ} ﬂrniﬂ![‘d

_ the gold medal
(D) wit

157. She pipped her rival
(A) to @ near (03 for

158, By morning, the fury of the floods
(B) ebbed

(D) retired

(A} abated
() receded

159. Work should be guided by some

R s

Is.as follows. / No error
(©) (D)
o

153. |watched how / the pi / ;

i ®) G

Noerror

D)

of altruism and _

illwav ar Vit /

155.  Youare required to give an explanation /
(A) :
foryo A A
(B) .

C MR /4 ~a0

_(A) genuine ;  philanthropy
B) good ; liberty
(€) false ;  honesty
(D) shallow ; ability

160. Ships are by giant engines,
(A) sailed (B) dragged
(© pulled (D) driven

Directions : In question numbers 161 to 163, out of the fou
meaning of the given word and mark it in the Answer She

161. Diminish i
(A) Prohibit B Shorten
(©) Reduce P (B)? W

162. Plebiscite
(A) Reservation




D

“irﬂ'iinnﬂ In question numbers 164 0 166, choose the
ord opposite in meaning to the given word and mark it

inthe Answer Shept

164. Urbane

- ural B) Crude
YR (®)
() Native M Loud
165. Bold
(A) nervous (B) coy
{'C} fearful (1) timid
166, Authentl
(A) genuine (B) false
() factual (D) real
Directions : In question numbers 167 to 171, four

alternatives are given for the ldiom\ P’ hrase underlined in

the sentence. Choose the alternative which best expresses
the meaning of the Idiom\ Phrase and mark it inthe Answer
Sheel

167, |hope you will back me at the meeting,
&) Follow (B) "Criticise
(C) Support (D) Speak after1do

168. 1and my friend always go Dulch whenwe eatout.
(A) pay for each other’s meal
* gotogether
@ divide the costs
(D) drive together

meﬂggd_u_m_ndnﬁ not know the significance of
human life,

{A} a poor man
© armser

(B) an ill-mannered man
{“D,) a rich man

_ Don't believe a word of

He's as da

170 '
;- whnt he sé}'&r*

Directions : In question numbers 172 to 181, a.
part of the sentence is underlined. Below
alternatives to the underlined part at (A), (B),
may improve the sentence. Choose the correct :
In case ho improvement is needed your n.mw
your answer in the Answer Sheet, 3
172. Theglassfi ﬁnamma.mmhm :
window apg:ﬂaled to me. in'lhunlmu y
(A) that was exhibited "
(B) that was on display \
(C) that was advertised
(D) noimprovement

She said that she was glad mﬁﬂtﬂm
tobethere
(D) noimprovement

173.
(A) to havebeenhere
() tocomehere

The notorious criminal

prison.
(A “surrendered himself before the police

(B) gaveh:mselfupfurﬂ-ue];ohce
(C) submitted to the police
(D) moimprovement

174.

1 did notsee you for a long time.
(A) saw (B) have notbem

(C}have not seen (D) noimprovet

The practice of starving the childrenino der
diarrhoea also aggravates &teﬁimatim

(A) starvechildren (B) star il
(©) starving child [D:I noimp:

175,

176.

If he has time he will tele
(A} wnuld

177.

178.




180, Thix e

: " NEWS IS 100 200d 10 be trye
A} 50 good that It cannot be trye
‘(fl} Cannot be trye

© S0 good that it shouly be true

(1) DO M provement

181, ||I‘1!'s'i,£|{lu_'|'l_mhl"
(A) much

\,G"] rather

for his ape.
(B) many
() O improvement

umbers 182 i, 188, out of the four
*one which can be substituted for

the given words/ se

ences and ind; ; .
t ¥ icate it by bi; »
he appropriate oval [ @ ] in the An. 4 ‘ih?:q lackening
182, To free someo, hos

ne from all bl

3 F
L) Consolidate ) Forbid

(D) Exonerate

183. The hurialn{amrps:u,
E.; :“1“’"\9“1 (B) Internment
nterrogate (D) Interpose
184. i
84. A persan who deliberately sets fire to a building,
{A) hijacker (B) arsonist
(C) extortionist (D) assassin
185. One u:'hﬂ .rmkesan official examination of accounts,
(A) Creditor (B) Chartered Accountant
(©) Auditor (D) Registrar
186. That which cannot be effaced.
(A) affable (B) illegible
() indelible (D) invincible
187.  One who does not believe in the existence of God.
(A) Theist (B) Mystic
(O Cynic (D) Atheist
188. Conferred as an honour.
(A) honorarium (B)' honourable
(O honorific (D) honorary

Directions : In question numbers 189 and 190, four words
are given in each question, out of which only one word is
correctly spelt. Find the correctly spelt word and mark
your answer in the Answer Sheet.

~ 189. (A) aneurysm B eponymous
(© carcas () dinpae
A) coherant {B} advicabl I-.E. i

II.

Directions : In question numbers 191 to 200, you have twy:
passages with 5 questions following each passage, R
the passages carefully and choose ﬂfl‘_‘ best answer to each
question out of the four alternatives and mark it by
blackeming the appropriate oval | @ | in the Answer She

PASSAGE - I (Question numbers 191 to 195).

The public distribution system, which Pm"'ldﬁ
atlow prices, is a subject of vital concern. There is a growir g
realization that though India has enough food to feed its
masses two square meals a day, the monster of 5'-‘31":"'3 Hon.
and food insecurity continues to haunt the poor in our,
country,

Increasing the purchasing power of the poor through.

e

providing productive employment leading to rising:
income, and thus good standard of living is the u[lirr!nm
objective of public policy. However, till then, there Ex
need to provide assured supply of food through a
restructured, more efficient and decentralized public
distribution system (PDS). Although the PDS is extensive
-itis one of the largest such systems in the world - ithasn't’
reached the rural poor and the remote places. It remains
an urban phenomenon, with the majority of the rural poor
still out of its reach due to lack of economic and physical
access. The poorest in the cities and the migrants are left
out, for they generally do not possess ration cards. The
allocation of PDS supplies in big cities is larger than in
ruralareas. In view of such deficiencies in the system, the
PDS urgently needs to be streamlined. Also, considering
the large food grains production combined with food
subsidy on one hand and the continuing slow starvation
and dismal poverty of rural population on the other, there
Is a strong case for making PDS target group oriented. By
making PDS target group oriented, not only the poorest
and the neediest would be reached without additional cost

but we can also reduce the overall costs incurred.

191, The public distribution systeiny vhich providessocd
al_isa subject of vital concemn.

(A) fair prices (B Sove e




193.  What should be an appropriate step o make the

DS effective ?
(A) Tomake it tarpet RO P orlented

® To ili\r:wnw the amount of food graing per ration
car

(Q Todecrease the allotment of food grains
(D) Toreduce administrative cost

194, The full formof PDS is:

(A) Private distribution system
(B) Partial distribution system
(©) Party distribution system
(D) Public distribution system
195. What, according to the passage, would be the
rationale of making the P'DS target - group
oriented ? '
(A) Ttwill abolish the imbalance of urban and rural
seclors
(B) Tt will remove poverty
(© 1twill give food to the poorest section without
additional cost
(D) 1t will motivate the target - group papulation to
work more

PASSAGE-II (Question numbers 196 Lo 200).
The desert floras shame us with their cheerful
adaptations to the seasonal limitations. Their whole duty
is to flower and fruit, and they do ithardly, or with tropical
luxuriance, as the rain admits, Itis recorded in the report
of the Death Valley expedition that after a year of abundant
rains, on the Colorado desert was found a specimen of
Amaranthus ten feet high. A year Jater the same species in
the same place matured in the drought at four inches.
Seldom does the dlesert herb attain the full stature of the
ype. Extreme aridity and extreme altitude have the same

\ warfing effect, so that we find in the high Slerras and in
Death Valley related species in miniature

197,

194,

199,

that reach a |
fertile arethe |

an temperatures. Very |
(st prevent evaporation, tuming

wmr“"

X il _..-

I

p, growing silky hairs. |

200,

What lesson do the desert floras have to teach us
(A} how to grow indry places il
(1 how to adapl to limitations

(€Y how o live o long time

(1) how to grow with grace

The desert plants face the danger of from
extreme arfdity and extreme altitude. A
(A) early death (1% loss of reproduction

() dwarfism (1)) painful growth ) t

Fow does the wind help the desert floras to grow 2
(A) By rolling up protective sand dunes

(M By blowing gently

(©) By blowing the clouds away

(1) By blowing the heat away

The mesquite is a v -
(A) atribeof people (B) atypeofdesertanimal.
(() asand dune (D) adesertflora

.uﬂﬂl





